PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
8th August 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

If mobile phone is turned on, then if someone cries then the rotath rotates. The
rotator is stationary, so phone must be turned off. /Wmﬁ &IF{%EITW%, a’rtrf%:aﬁé
T 8 1 Weex gHAT 21 Weex fRR 8, Y Wi ¢ ghm|

e True / Ig!

* False / Tdd

e Maybe / B 9&dl &

e Irrelevant / UMERIS
Correct Answer :-False / Ted
2)

Question Stimulus :-

Keoladeo National Park is located in which state of India? / %WTI@TT@FT URd & foa Ta & fRE %?

® Rajasthan / ITSTRITH

® Maharashtra / HEIRTE

® Gujarat / J[SIRTd

® Bihar/ ﬁ?'l'\"
Correct Answer :-Rajasthan / JTSTRITA
3)
Question Stimulus :-

Find the word that represents the category of the following three words. / dg R 3Td iR
it g i real @t Joit 3 gfaT @

Stool, Table, Chair / T®1, A, HA
° Bench/aﬁl

()



® Furniture /'Eb_'ﬁ?l'\’

® Carpet /aﬁ

® Office / WY
Correct Answer :-Furniture / -l
4)

Question Stimulus :-

1. A,B,C,D,E,F and G are sitting on a wall and all of them are facing east / A,B,C,D,E,F ARG
TP AR W Td F1 IR qO fPT gu as &

2. C is on the immediate right of D / D & fivpd qifiel iR C &
3. B is at an extreme end and has E as his neighbour / B faegpa &R # 7 3iR E 39®T1 skl 8
4.GisbetweenEand F/ G, ESRFH S # @

5. D is sitting third from the south end / EF&WT@?'\‘?[WWH WD 331%

Immediately between which of the following pairs of people is D sitting? / il & fAg o
¥ fra Wi & focpa Siw A D do1 82

e AC

e AF

e CE

* CF
Correct Answer :-CF
5)
Question Stimulus :-

Money bills must be introduced in / &1 fadg® &1 yaTa Y dgH H U= BIAT S0 E?IT'IT %
® Lok Sabha only / Fad AHIYT
® Rajya Sabha only / Fad ISTTHT

® FEither of these two / a:ﬁ =) ﬁ's‘ f U

® Both the Houses at a time /W'epf g Wiﬁzﬁ '\"-lﬂ:ﬁ |
3)



Correct Answer :-Lok Sabha only / ad GBI HT

6)
Question Stimulus :-

The National Anti-Terrorism Day is celebrated on which day in India? / HIRd " TI'@T[ Wﬁﬁ?ﬁ ﬁﬂ'\qﬁ
AT SITdT 82

o April 21 /21 30 &

* May21/21H%

® June27 /2791

o July27/27 JaTS

Correct Answer :-May 21 /213

7)
Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, _
share a common similarity while one is different. Choose the odd one out. / IGCRE] ﬁ,

%WET%Wﬁﬁﬁ%,ﬁaﬁ,mwaﬁﬁm,W%mwm% | foww ara &1
I

e ACE
e PRT
* UWY
* MNO

Correct Answer :-MNO

8)
Question Stimulus :-

There are five persons P,Q,R,S and T. One is foot ball player, one is chess player and one is
hockey player. P and S are unmarried ladies and do not participate in any game. None of
the ladies play chess or football. There is a married couple in which T is the husband. Q is
the brother of R and is neither a chess player nor a hockey player. / P,Q,R,S 3R T UTg Aafey
g1 379 A TP Ppeodid FAars! 8, TP Jais st 8 8k U@ gia! Raarst 81 P 3R s sifqaifed wfgane &
3R frelt @ o e 1) At €1 399 A ®18 Y 9igan S a1 Beara I8 @ad! 1 T [Qaifed sier @
Srd T tfa 21 Q, R &1 WIE @ 3R 7 € Wi fEarst @ 7 € giot Raarst

Who is the football player? / Beaid f@drSt B9 82
(4)



e S
Correct Answer :-Q
9)
Question Stimulus :-
Ahmed is taller than Salim. Salim is not as tall as Ahmed but taller than Akbar. Sohan
too is not as tall as Salim but taller than Akbar. Who is the tallest? /3[gH¢ JeiiH 9 a1 31
el 3rgwe e deT 181 § W e A dat 21 e W Teha Ran der 181 § W srdheR @ da1 71 wad
GEIEIE K
* Salim / FeH
e Akbar /3 PR
L] Sohan/'\tﬁ‘eﬁ
e Sohan & Akbar /g 3R 3HaR
Correct Answer :-Salim / GailH
10)
Question Stimulus :-

The States Recorganisation Commission was appointed in / mgmm ST Bt HUTYAT vd §€ At-
® 1952
® 1953
* 1954
® 1951

Correct Answer :-1953

11)

Question Stimulus :-

Following are the three positions of a cube. / BB K ?ﬁ‘[@lﬁfm%
(®)



c‘ ‘

DiceX Dice DiceZ

Which country names are hidden behind Japan and Brazil? / STTUTH Gﬁ?mﬁﬂﬁ%%ﬁ?'\ﬁ%&ﬁ Gk ie) g&%’

® CHINA & ITALY/ ITST 3T Scait

* ITALY & UK/ STt 3R T

* USA & UK/ JUYT 3R &

e NONE/ BIg ot T8
Correct Answer :-USA & UK/ JUHT 3R g
12)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg§ fowe
gie, st b @1 =} F TR R Tu FyT & JuE ?

If you play chess, then you are intelligent / af¢ 37 Ia3el Wad 8, af 3T JiGA &
e If you don’t play chess, then you are not intelligent / g 3y 3w 8l @Wad %', Gl
3T AT T §
e If you are intelligent, then you play chess / af¢ GIWQ'@WH%, oY 3T TS Wad @

e If you are not intelligent, then you don’t play chess /Hﬁmgﬁqﬁﬂﬁﬁ GIREIL]
RS el dad gl

¢ None of the above / Waﬁé T(?f
Correct Answer :-If you are not intelligent, then you don’t play chess /tr%arrqg%m-rr
& &, df 31U I T Werd gl
13)
Question Stimulus :-

Select the statement that is the negation of the statement "All of my shoes are

uncomfortable.” / 3T FYT HI T &l 30 HYT FT Ufdarg ¢ "AX It 3 awcives 817
(6)



e Some of my shoes are uncomfortable. / 8% Wﬁﬁ GEZ LT
* None of my shoes is uncomfortable. /ﬁﬂ@‘lﬂwmﬂﬁal
e None of my shoes is comfortable. / 831 T&H ‘l-ﬁ\_:fclT SRTAGTA® T8l 3

* Some of my shoes are comfortable. /ﬁa\fgmqﬁ IRTHE B

Correct Answer :-Some of my shoes are comfortable. /fﬁ'wﬁjﬁ SRTHSE B

14)
Question Stimulus :-

10th Prime Minister who was born in Madhya Pradesh whose Birthday is now celebrated as
the ™ Good Governance day” / &3d WUFHAT &l 7eg wexr # Uer g€, e s=fes o@ s a9
3 & ¥ H AT ST 8

® Chandrasekhar / TERIGR

e Atal Bihari Vajpayee / 3Icd fosrt oo
® Shankar Dayal Sharma / fPIgard Tt

® Arjun Singh / GITIIT'T ﬁl’ﬁ»’

Correct Answer :-Atal Bihari Vajpayee / 3icd fagR ot

15)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey gﬁt{
< fRT U $y=Y vd el & o & 9 21

Statements: / ®Y-:

All kites are eagles / Y udd A %
All eagles are birds / I g U&-ﬁ%
Conclusions: / fAmd:

I. All kites are birds / Wt ot ueht §

II. All birds are kites / T uelt ueit &
® Only conclusion | follows / Wﬁw& I fFrpadr %
® Only conclusion Il follows / Had freed 1| e %’

(7)



® Both conclusion I and Il foIIows/?.‘aT-ﬁ ey 1 3T 11 FPrped %

* None of the conclusion I or II follows / NS I AT II A | g g Fpaarg
Correct Answer :-Only conclusion I follows / Had frspy 1 Apadr %
16)

Question Stimulus :-

If A+B means A is the son of B and B+C is B is the wife of C how is C related to A? / gfe
A+BFTASEF A, BHFT R TIB+CHT 3f g fF B, CHI U 8, C, A T fb g wwifRa 82

L CisthesonofA/C,Aa'TfEﬁ%

U CisthemotherofA/C,Aaﬂ'Fl'l?lT%
® (Cisthe brotherof A/ C, APl Q-I'Ig%
L CisthefatherofA/C,Aa'TfﬁT'lT%

Correct Answer :-Cis the father of A / C, A BT fUdT &

17)
Question Stimulus :-

What is the name of the Sanctuary that is located in Morena? / 'ﬂa_'ﬂ T FRIF ARG BT A9 T 82
e Son Sanctuary / A AHARTY
e Bandhavgarh Sanctuary / di{di¢ JHIARTY
e Ghatigaon Sanctuary / 9ERTId HARUY
¢ Kuno Sanctuary / Fﬁ SIHIARTY

Correct Answer :-Kuno Sanctuary / $l AR

18)

Question Stimulus :-

Who was the President of the Swaraj Party? / ¥dRTol el & sremef o1 A2
® C.R.Das/¥l.3MR. g™

® Motilal Nehru / HIdIaTd Ag&

® Vallabhbhai Patel / GeIHHTS Ueol
(8)



® Madan Mohan Malaviya / Hg 'Fﬁ?:f HTad™

Correct Answer :-C.R. Das / 91.3[RR. g

19)
Question Stimulus :-

Deccan Plateau is primarily made up of / @b Pl USTR BT &7 GRS
* Basalt / 3TRIaT=A
® Granite / ‘BH'IE?

® Limestone / JAT URIY
® Sandstone / T3T YRR

Correct Answer :-Basalt / 3RIdTIH

20)
Question Stimulus :-
Which one of these is a port on the eastern coastline of India? / ET'F?[ T S T YRd & 'Qﬁf?l? IR T
SaRTE &7
 Paradeep / URTGIU
® Marmagoa / Tutmar

® Mumbai / 'ﬂﬁ'&c

¢ Kandla / disdl

Correct Answer :-Paradeep / URTGIT

21)
Question Stimulus :-

A call centre operates between India, Japan and US. India is 12 hrs ahead of US, and 6 hrs
ahead of Japan, while Japan is 6hrs ahead of US. India works between 10 AM till 10 PM,
where as US works from 8 AM till 8 PM and Japan works from 9AM to 9PM. / T i A3
YRd, ST 3R MRt & S aaar 1 YRd 12 9 MReT A M §, 3R 6 °e WU ¥ [ g, Safe
WU 6 ¢ SMR®T I 3R §1 YR 9§ 10 T I I 10 I % HTH T @ Said STRIPHT I8 8 To A
A 8 TS TP BTH BT g 3R STUH JIg 9 I A Id 9 To dP HTH Hal gl

A conference is to be held between Japan and India. What should be the earliest possible time when Japan can initiate the

conference with India? / STTUT 3MR YRA & §1F T B TSI B A & | SIelog A eg ford FHIfd THa wR
SO HRA & A1 HHT IR B Ihal g2

©)



® 9 AM Japan Iocalﬁmelwgaﬁwwwm

® 10 AM Japan local ﬁme/WloaﬁW BT A THT

® 11 AM Japan local time / {qdg 11 o SITUT BT TG J9T

® 12 noon Japan local time/?ﬁ'qg?' 12 51 SITUTE T RIHG JHG
Correct Answer :-9 AM Japan local time / gdg 9 T SATUE BT R J9Y
22)

Question Stimulus :-

Who established the original Archaeological Museum, Sanchi on the hilltop of Sanchi? / o= Tt ot q?'lﬁ &I
W W A "R GIeTad, il it RITYT Hi?

® Charles Correa /?I'Iﬁ‘:f HIfT
® Sir John Marshall /wa"ﬁmﬂa
® Marshall Durand /'l:l'|'521"61§?_{:;r

® Sir Thomas Roe / X YT

Correct Answer :-Sir John Marshall / T3 SiI AT

23)
Question Stimulus :-
In the following diagram. / 3 snefa o

e Circle S stands for households having a scooter;/ 99 S 39 URARI &I gxIiar 8, oF® T
PR &

« Circle T stands for households having a TV set; / g9 T S URARI &I g=iiar 3, o9&
i 81

¢ Circle W stands for households having a washing machine; / X1 W 34 yRaRY @1 g=rtar %,
% iR o= 81

« Circle C stands for households having a car. / 39 C 39 URaRl ! gxifar g, e U9 &R 31

Note: The different numbers indicates the non-over lapping regions. For example, S
represents unions of regions 1,11,12,8,9,10 and 6. / &9 S & & S-SR H@T[{ S faoaTd

aa‘faﬁﬁﬁaamﬁ%lmw%ﬁrq sasu 11,12,8,9,10 3R 6 & TY &I gIIaT 2l

(10)



Households having a car, washing machine, TV set but not scooter are represented by

/ 3 IfaR, R 9 oR, ariXin a2i, 4.4 § afee wpex 78 8, S= feas gy oxitar wan §
o 7
e 8
e 9
* None of these / ®Ig =gl
Correct Answer :-7

24)
Question Stimulus :-

This poet is famously referred to as the ‘Shakespeare of India’ / T RS P B 'HRd & AR & &Y
H T ST &

® Bhasa / HTHT

* Kalidasa / PTG

* Tulsidas / qONIIGRNT

® Valmiki / areHife
Correct Answer :-Kalidasa / BTl
25)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawea i{ﬁE
il 3T T Syl vd el & aR § 9 R

(11)



Statements: / $Y:

Some parrots are birds / $ did uelt §
No bird is green / aﬁ%u&ﬁwqﬁ%
Conclusions: / fAwd:

I. Some birds are parrots / $9 q&ﬂ?ﬁ%%

II. Some parrots are not green / $9 GG B;\’-‘-Iﬁ%
® Only conclusion | follows / mﬁﬂﬁﬂf I Fradar %
® Only conclusion Il follows /haﬁwcf ECZNGI %
® Both conclusion land Il foIIows/ﬁ foreed 1 Gﬁ?' II ﬁ"lﬁﬁ %

* None of the conclusion I or II follows / Fepd I 1 II & A P 8] FPpadr g
Correct Answer :-Only conclusion I follows / Fad freey | T %

26)
Question Stimulus :-

he jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / Tl & AHARYT 3feR 19 38 T §| UdP 3R P GBTfhd fovar T §| 98
e g &t e 3 @t T & R Semei & w0 A el o1 9 w9 a1 8

AMDENR

123456

 1,6,2,4,5,3

e 2,1,5,3,4,6

e 3,4,52,1,6

* 6,4,2,1,53
Correct Answer :-6,4,2,1,5,3
27)

Question Stimulus :-

Who was honoured with Lal Bahadur Shastri National Award 2014? / €I¢l d@lgY TR ?T@'q TYREDHTR 2014 ﬁ
s gwf=a foear mar ur?

(12)



e Kailash Satyarthi / BeT=T Jearalf

* A.S. Pillai / . TH. fUsTs

e Both (A) and (B) / (A) 3R (B) gl
® None of these / STH & P ol

Correct Answer :-A.S. Pillai / €. TY. fUcwrs

28)
Question Stimulus :-

The Chairman of the Rajya Sabha is / TS HHT & U B:
® The President / Tl'g'qﬁl'
® The Vice-President / G'q-?'l'gqﬁf
® Prime Minister / WIT TAT
® Home Minister / U8 Ha

Correct Answer :-The Vice-President/G'q-Tl'g'qﬁ

29)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe

g, st ab a1 =P 9 i e T8 vy & quE §

If your hands are dirty, then you have played in sand. / af¢ 3Mud g1y 7i¢ g, ot omu fudt & Qe

|

e If you hands are not dirty, then you haven’t played in sand / afe Gqua?BTQITi%TéT%', GIREIL

gt o =7Et @t

¢ If you have played in sand, then your hands are not dirty/ﬂﬁﬁl’é’rﬁ'@ﬁ ﬂ, ¥ 3P §IY

e R E

e If you haven’t played in sand, then your hands are not dirty / afe amﬁé’rﬁ%"r@ﬁ Q, a

TS §IY 7 T8I &

* If you have played in sand, then your hands are dirty / af¢ 3mu figt & @@ &, @ 3muds g1y 7

g

Correct Answer :-If you haven’t played in sand, then your hands are not dirty / afe 3

o & 7Y | 9, 9 U BTy TS A R

(13)



30)
Question Stimulus :-

Anup Sridhar is associated with which of the following sports? / 3I-JU frer Fra ¥ @ fra Ia A Jafta g2

* Athletics / WaFG
U Badminton/a?;ﬁiﬂ

® Wrestling / ﬂﬂ?ﬁ

® Swimming / GRSl
Correct Answer :-Badminton / 9Sfe-
31)

Question Stimulus :-

From which monument did Jawaharlal Nehru hoist the Indian national flag on 15 August 1947? / 15 3I3T¥d 1947 g
STATERATe Age A [PH VRS A AT e BT U1?

* Red Fort / @Ta fomatm

* India Gate / Sf&TT T

® Jahangir’s tomb / Trl_s"ﬁ'ﬁ'\’ DI HBHEART
® Parliament House / ¢ Ha

Correct Answer :-Red Fort / @l fel

32)
Question Stimulus :-

Corbett tiger reserve is in which State? / HTaC 919 AIHIRYY fpg I ) %?
¢ Jharkand / SIRWEUS
® Assam / 3H
e Uttarakhand / SIRTEUS

® Madhya Pradesh / ] 'Fla'-‘lT

Correct Answer :-Uttarakhand / 3TRIEUS

(14)



33)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe gﬁt{
St fioT T HY=T wd Fremul & R & 9E |1

Statements: / ®Y-:
All guns are riffles / H‘lﬁdﬁ RER TN) %
Some pistols are guns / $9 Ol Eﬁﬁi g
Conclusions: / faemd:
I.Some pistols are riffles / $o e I5Fa &
II.Some guns are riffles / 9 E@% AT §
® Only conclusion I follows / Pad ey I feedar %
® Only conclusion Il foIIows/Wﬁ'@& G EZSGI %
® Both conclusion land Il follows/ifFﬁ foreed 1 Gﬁ? II ﬁwﬁ '%
e None of the conclusion I or II follows / =Y I W II A q ®1 T¢1 Fpaar g
Correct Answer :-Only conclusion | follows / aﬁﬂﬁfﬁaﬂf I fradr %

34)

Question Stimulus :-

Who is the author of ‘Imagining India’? / FARIT Efsar & da® P 82
® Nandan Nilekeni / S&- Haeoht
* Khushwant Singh / GRIdd g
® Chetan Bhagat / EGERIUG]
® Dr. AP JAbdul Kalam / Sfo T Ul O 3fegd Had

Correct Answer :-Nandan Nilekeni / Si& SIcie Uit

35)
Question Stimulus :-

From where does the Chambal originate? / I+ ¢l W}f I Ifela Eﬁ?ﬁ %?

* Janapav Hills / STHUG UgI&ai
(15)



® Rewa District / $tar forem

® Sagar District / VIR forem

® Maikala Ranges | Aot ¥
Correct Answer :-Janapav Hills / SHUE UgIfsdi
36)

Question Stimulus :-

P is the brother of Q. Q is the brother of R and R is the husband of S. T is the father of P. How is S related to T? / P, Q 1T

YTE 81 Q, RPT UE B0 3RR, s PIURIT, PH AT s, TH Ha Jafag?
° Daughter/aﬁ
* Daughter-in-law / §§
® Brother/ ’l-l'l'é'
® Sister / dg-1

Correct Answer :-Daughter-in-law / 9g

37)
Question Stimulus :-

Kolar and Hutti mines in Karnataka are rich in which mineral? / ®Ic® ¥ HIaR 3R '6'@' T fa @ e
¥ TG 82

® Iron / WIEI

 Bauxite / SIGUTSC

* Gold / ST

* Coal / ®ITT
Correct Answer :-Gold / 9IFT
38)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

(16)



third term. / 9 % &, Ugd 4l <l & 919 frdll UoR &1 ®1E "oy 7] Y e d @ =@t ug g
e R ue & Oy S0 THR &1 I6Y 2]

5:125::7:?
o 247
e 49
e 343
® None of these / 38 § BT &I

Correct Answer :-343

39)
Question Stimulus :-
In a row of forty children, P is thirteenth from the left end and Q is ninth from the right
end. How many children are there between P and R if R is fourth to the left of Q? / B
T P TF R Y, PIE RIA 1T A WRIMQIMABRATN A REI PR @A PAIRRF
AR, g R Q & T 3R T 1Y WM W 82

e 12

e 13

e 14

e 15

Correct Answer :-14

40)

Question Stimulus :-

Which city has Bina Refinery, also known as Bharat Oman Oil Refinery, a joint venture between Oman Oil

Corporation and Bharat Petroleum Corp?/ihal:[i‘:ﬂ Wﬁlﬁ'ﬁ a1 reraa %ﬁl’\ﬁ HRd 3T ad
Rwret off ST SraT 8, SiuT Siiad SRR iR YRd Ueiaad &It & di9 U6 Jgad 399 82

® Chanderi/ ilé'ﬂ
® Sagar /IR
® Satna / IdHl

* Ujjain / I

(17)



Correct Answer :-Sagar /94X

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

In a certain code ‘New age school’ is written as ‘kom fedal fena’ ; ‘Old age company’ is
written as ‘sena fena zena’ and ' top business school’ is written as ' kom pom dom’

In that code the word ‘fedal’ is used for: / o<t @ Hﬁ%’ﬁ, ‘New age school’ & ‘kom
fedal fena’ feran Trﬂ?ﬂ'% % ; 'Old age company’ P ‘sena fena zena’ forar siran % % 3w top
business school’ &1 * kom pom dom’ G SEAIE | SY BT H ‘fedal’ T SHP ford TANT fHar Siram

g

® school

® new

® old

® company
Correct Answer :-new
2)
Question Stimulus :-

CANCELLED

A man sells 5 articles for Rs. 15 & makes a profit of 20%. Find his gain or loss percent if the sells 8 such
articles for Rs. 18.40? / U® 3MTEHI 15 TUY B 5 o =T & 3R I 20% BT ATH gaT &1 ITDT a1y aT
T+ wfer=ra uaT &3 afe a5 8 axg¢ 18.40 TUY ¥ ST g1

e 9%

* 7%

® 8%

® 6%
Correct Answer :-8%
3)

Question Stimulus :-

102x6+{(1300/100)x15}-405/5=?

® 756

(18)



® 820

® 736

® 726
Correct Answer :-726
4)
Question Stimulus :-

A contains 10 elements. The number of functions from Ato Ais / A #10 EIE%'I ASAS
el B ST BT

e 10!

e 2!

°* 10
Correct Answer :-10
5)

Question Stimulus :-

In a certain code EXOTIC is written as CITOXE. How is KINDLE written in the code? / ot @ g s ﬁ, EXOTIC BI

ferRaT SITaT @ ciToxe | 39 B8 # KINDLE B $4 forar S 82
* DKLIEN
e NEKDIL
 ELDNIK
* EIKNDL

Correct Answer :-ELDNIK

6)
Question Stimulus :-

Ashok bought 40 apples and sold them for Rs. 200, making a profit of 25%. What was the cost of each apple? /

3P + 40 JF WIS TG 3¢ 200 UGl H 25% & a1Y W 99 fear| ufa I &1 gea & 41?

® Rs.5

(19)



® Rs.4
e Re. 1
® Rs.2%

Correct Answer :-Rs.4

7)
Question Stimulus :-

Two dice are thrown simultaneously. What is the probability that the second dice has six? / ﬁ uﬁwwuﬁw

T G U W 6 TRAT 3T B FUTIT 7 82
e 1/6
e 1/3
e 1/4
e 1/9
Correct Answer :-1/6
8)

Question Stimulus :-

In a code, CROWS is written as 12345, SWEAT as 54678 and ALONE as 79306. How will LANTERNS written in that code?

/ Th BIS H, CROWS Bl 12345, SWEAT Pl 54678 Td ALONE DT 79306 fer@d &1 I HIS H LANTERNS I Ha
ford?

® 97086205
® 97806205
® 97068205
® 97082605

Correct Answer :-97086205

9)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 9 33 T8 IR i & ¥ = A T 1a & i I9H o9 91 T 5l 22

(20)



Housing Rights Team
L B Lewisham

1a Eros House
Brownhill Road

Catford SE6 4EG

(i) Housing Rights Team
L B Lewisnam

1la Eros House
Brownvill Road

Catford SE6 4EG

(ii) Housing Rights Team
L B Lewisham

la Eros House

Brownhill Road

Catford SE6 4EG

(iii) Housing Rights Team
L B Lewisham

1a Eros House

Brownhill Road

Catford SE6 4EG

(iv) Housing Rights Team
L B Lewisham

la Eros House

Brownhill Road

Catford SE6 4EG

(21)



Correct Answer :-i

10)
Question Stimulus :-

What is the minimum number of straight lines needed to build the following figure? / = \’nﬂTﬁf &) g9 & ol
A T A6 fpadt A Yarei 3t smazasar ghft?

e 6
e 4
Correct Answer :-8

11)
Question Stimulus :-

A train is running at a speed of 60 km/hr crosses a pole in 12 sec. what is the length of the train? / 60 fopt/eer @t

T & I aTell U o 12 TS A Th WY Bl UR Xl g1 o Pt aaTg T 52
o 125m/ 125t
* 150 m/ 150 Ht
e 175m/ 1754t

® 200 m/200 Hl

(22)



Correct Answer :-200 m/ 200 Ht

12)
Question Stimulus :-
What will be the next term in the series? / WEIT H SRTAT UG T g2

M3V, 05U, Q7T, S9S, U11R, ___
® X13Q
® V13Q
® Wi13P
* Wi13Q
Correct Answer :-wi3Q
13)

Question Stimulus :-

A train 105mts long is running with a speed of 50kmph. In what time will it pass a man who is running at 4kmph in the
opposite direction to that in which the train is moving? / T 105 ez @dl 27'[ 50 fpY ufa ger 5t nfa QA =9« T&‘T
21 T S o 39 Y Faudia faem & 4 fpel ufiy der 3 vy @ fe a1 §, 39 3 fvas awa § R i

e 7sec/ 7 JAFs
* 10 sec/ 10 ¥ds
® 12sec/ 12 A5
* 5sec/5 dds

Correct Answer :-7 sec / 7 d&s

14)

Question Stimulus :-

Two pipes A and B can fill a cistern in 60 min and 75 min respectively. Due to leakage, the cistern is filled in 100
minutes. In how many minutes, the third pipe alone can empty the cistern? / a m%q A 3R B U 'a\_ﬂ' Ca|
HU: 60 e SR 75 fire § W’ Wod 51 Hidw $I aoig 9, §19 100 fimel & wR11 foveq faered &,
TRIRT UTSY 31dhet BT BT QIR PR AT 572

* 50 min / 50 fiFE

® 55min / 55 fi-e

(23)



* 60 min / 60 f¥E

* 40 min / 40 3T
Correct Answer :-50 min / 50 f¥ e
15)

Question Stimulus :-

EI'g::he sequence shown below, which figure comes next? / I fGEr 7@ %0 & SrTelt enpfa
@ gtz

(24)



Correct Answer :-

16)

Question Stimulus :-

In the following qpestipn, one term in the number series is wrong. Find out the wrong
term. / 99 Uy ¥, G@I 491 # TP US TAd §] TAd UG ¥ BIfoA| 3,7,12,18,25,32

e 25
e 32
e 7
e 18
Correct Answer :-32

17)

Question Stimulus :-
Complete the series choosing the missing number: / fdqw W& g6 gadr ﬁ‘BT DI :

0,1,1,2,3,5,__
e 6
e 8
e 10
e 4
Correct Answer :-8

18)

Question Stimulus :-

5711 3
i . . . 6812 o 10 : .
Put given fractions in ascending order © 8 12.& 7 ./ Ry M sl &' oIS wH & womsd
5711 3
6812 10
6 85 125k .

(25)



11

12

._.
="

o | Lh
oo | =

,_.
[
=]
[=
T
(=)

o0 |~
—

=l

(= Y
L

o

®* None oftheselﬁﬁﬁﬁgqﬁ

fa—
—_

o | LA
o0 | =l
-
[

Correct Answer :-

19)
Question Stimulus :-
What will be the next term in the series? / mﬁ' STAT Ug RIT 'sﬁ'lﬂ?

B,D,FH,J, ?
e K
e L
e M
e N
Correct Answer :-L

20)
Question Stimulus :-

In the panchayat election, there were two candidates. A got 45% of the votes. He was defeated by 3120 votes by B.
How many votes did A get? / TaTId g1 ¥, & IWIGarR A| A B 45% dic firar| 98 B I 3120 dici gRT
WRITSTd §3T| A & foha aie urw gu?

® 31200
® 17160
® 14040

* 15600
(26)



Correct Answer :-14040

21)
Question Stimulus :-
The LCM of 2a2-7a+3 and 2a2+5a-3 is / 2a2-7a+3 3R 2a%+5a-3 T LCM §
e (a+3)(2a-1)
e (a+6)(3a+2)
e (a+5)(2a+1)
¢ None of these / ET-Iﬁ ﬁﬁﬁ's‘:lﬁ

Correct Answer :-(a+3)(2a-1)

22)
Question Stimulus :-

CANCELLED

What is the average of cubes of first five prime numbers? / Ugal g 3FT T3 & Tl BT
3Nd AT 82

® 366.8

* 366.6
* 366.4
e 366.2

Correct Answer :-366.8

23)
Question Stimulus :-

If one — third of one — fourth of a number is 15, then three — tenth of that number is / gfe TH =T & Uh-

YIS BT UH-fagTs 15 8,99 IH &I BT d19-2818 8
e« 35
e 36

.« 45

(27)



e 54
Correct Answer :-54
24)
Question Stimulus :-

The mean proportional between 0.32 and 0.02 is / 0.32 3R 0.02 & s 31 HTTIUTd %
e 0.08
e 0.80
e 0.16
e 0.40
Correct Answer :-0.08

25)
Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / A & TS s@en 3eRl TH TR BT SAIHH YANT Hdl &| Tad TS Ugan=a|

(i) CZ845CXDZ

(ii) CZ845CXDZ
(iii) CZ845CXDZ
(iv) CZ845XCDZ

o i
* i
o il
* iv
Correct Answer :-iv

26)

Question Stimulus :-

(28)



I the code for HUNTER is GTMSDQ then what will be the code for NILESH? / T HUNTER & o0 ®IS GTMSDQ &

@l NILESH & o0 T i BRTN?

® KHFRGM
® MHKDRG
® GRFKHM
® MKHGRF
Correct Answer :-MHKDRG
27)

Question Stimulus :-

Complete the series choosing the missing number: / fAgW BT DR SGaT B R HIT :
1, 64,343, 1000,
® 2032
® 2197
® 2097
® None of these / sﬂﬁﬁ ﬁ's: Hﬁ
Correct Answer :-2197
28)

Question Stimulus :-

405 sweets are distributed equally among children in such a way that the number of sweets received by each child is
20% of the total number of children. How many sweets did each child receive? / 405 afp gl o = § SRTER o £
PR dicT 14T fF T 9= gIRT I ! Tt <6t a0 $t $a T DI 20% 21 TS 9= B fHa=i
<iftpar frelt?

e 20

15
. 18
.« 45

Correct Answer :-45

(29)



29)
Question Stimulus :-

In a certain code ' Listen to music’ is written as ‘listo meg sunim’ ; * Come to Pune’ is
written as ' Mombo meg pono’ and ' I like music’ is written as ‘kono misto listo’ . In
that code the word ‘sunim’ is used for : / {53l W FIs #, * Listen to music’ &I ‘listo meg
sunim’ foR@T ST § ; * Come to Pune’ &1 * Mombo meg pono’ Il ST & 3R * I like music’ &1
‘kono misto listo’ @l ST 8] 39 BIS A “sunim’ Mg ST T TANT fhar S @

® music

® mombo

® listen

® Jike
Correct Answer :-listen
30)

Question Stimulus :-

If 45% of a number is 250 less than 55% of that number, then the number is/ ‘T% Th HC&T BT 45% I TSAT F55%

W 250 B g, A W@ Rt
* 2000
* 2500
* 3000
* 2800

Correct Answer :-2500

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

The loudness of sound coming from normal conversation is / ITHTI ardtarg 9 31 1?\[ tafy &I yaedn %
e 10db/10SREa
* 30dB/30 SRa@
* 60dB/60SRidd

(30)



e 70dB /70 SRred
Correct Answer :-60 dB / 60 SRIad
2)
Question Stimulus :-

Evaluate 313 * 313 + 287 * 287 / 313 * 313 + 287 * 287 BT HF AP1feg
® 180338
® 180438
® 180348
® 360678
Correct Answer :-180338
3)
Question Stimulus :-
Which among the following is a product of sexual reproduction? / g # d o1 dffre S99 31 Th IdIq %?
* Tuber / Hg
e Bulb / P Fg
® Rhizome / UG
® Seed/dldl

Correct Answer :-seed / di%l

4)
Question Stimulus :-

The figure below represents the total number of students and the number of girls in
college ABC for five years from2000-01 to 2004-05. During this period, the total number of
students increased from 100 to 1000, while the number of girls increased from 25 to 450.

/ T f&ar a1 R 2000-01 & 2004- osw%maﬁﬁmﬁﬁwcﬁmaﬁwmaﬁ?m
P TBAT P SRIaT &1 39 Al & SRM B Ft & IBAT 100 A 1000 IF ¢ T3, 59 fF Tsfral ot
TST 25 T 450 dF 11

Total number of students = Number of boys + Number of girls

BHEI ® Td TSI = ASHI Bl G+ TSIBA DI BT

(31)



1000 0 500
[
=900 — a50
=
5800 = vl 400
5 600 i 300
= 500 — 250
I __-=O
£400 == o 200
3300 150
=200 T _ 100
ol el . '
k: 10[3 —— 30
T T T T ]

2000-01 2001-02 2002-03 2003-04 2004-05

| —O—TotalNumber Of Students |

The highest percentage growth, in the total number of students, relative to the

previous year occurred in / fUSd a¥ & A0 SN 3t Fa G©T | Jad 3w ufaxea ot gfs 370
Jfraafdgs e

e 2001-02

e 2003-04

e 2002-03

e 2004-05
Correct Answer :-2004-05
5)

Question Stimulus :-

A plane mirror is approaching you at 8 cm /s. you can see your image in it. At what speed will your image

approach you? / U JHdd GUUT 8 TH /AHUS H Tfd T MUt 3R 3MTaT € 3R 37 A 3= ufafas
DI 3@ IPd ¢l fra afa F smuemr ufafda smust ik smem?

* 4cm/s / 4 9Hl/dPUS

* 8cm/s / 8 UHl/IADUS

* 12cm/s / 12 9Hl/AHTS

* 16 cm/s / 16 QHI/THUS
Correct Answer :-16 cm/s / 16 IHl/IH0s
6)
Question Stimulus :-

(32)



/ 9% TG Si SRR Bl U i

The structure that holds the chromatids together is

TS BT @l @
® centriole / aﬁ»—s{

® centrosome / AIRDPPTY
® centromere / A G

® telomere / 3[dWS

Correct Answer :-centromere / %

7)
Question Stimulus :-

The figure below represents the total number of students and the number of girls in
college ABC for five years from2000-01 to 2004-05. During this period, the total number of
students increased from 100 to 1000, while the number of girls increased from 25 to 450.
/ T f&ar T 7 2000-01 | 2004-05 % & Ul aul A Hiasl ABC H BE @1 $d TBAT 3R dsidpal
Dt W= B SRTaT 31 $H @MY & ERE BE $1 $a =T 100 A 1000 dF §¢ T3, 99 & asfHal ot
|1 25 ¥ 450 TF T

Total number of students = Number of boys + Number of girls

BHEI B FA GBI = ASHI B GBI+ AS(HAl DI T

ZLooo e 500
£900 4 as50
3 800 7 400
2700 / 350
5 600 —~ 300
=500 2 250
£ 400 —O—=—=—— 200
3300 150
=200 ——F /f_.ﬂ*/ 100
%100 L 50
= 0 9 0

' T T T T ]

2000-01 2001-02 2002-03 2003-04 2004-05

| —O—TotalNumber Of Students |

The highest percentage growth, in the total number of girls, relative to the previous

year occurred in/ fUSa a9 & ATde asfeal & $a T U G99 (e U= i delast 399 9
g od o g8 82

e 2002-03

e 2004-05

(33)



e 2003-04
e 2001-02

Correct Answer :-2003-04

8)
Question Stimulus :-

The figure below represents the total number of students and the number of girls in
college ABC for five years from2000-01 to 2004-05. During this period, the total number of
students increased from 100 to 1000, while the nhumber of girls increased from 25 to 450.

/ I fear a1 =7 2000-01 & 2004- osw%maﬁﬁmﬁmcﬁmﬁ T=IT 3R dsfpal
P YTAT P ST &1 39 @A & SRM BHE] Bt A IBAT 100@1000?@&7511% ws % asfpal &
TT 25 T 450 dF ol

Total number of students = Number of boys + Number of girls

BE ® T TSI = TASHI Bl G+ TSP DI TS

1000 yo 500
[ 5]
2900 b 450
=
2800 £ V4 400
= v -
Z700 — 350
5 600 7 300
Esun - 250
=400 —S /.— 200
=300 150
— 200 —F ——— 100
E — =
2100 == 4+ 50
" = 0

] T T T T ]

2000-01 2001-02 2002-03 2003-04 2004-05

—O—TotalNumber Of students |

If X is defined as the ratio of the total numbgr of girlg to the to.tal numl?er of students,
then X was maximum in the year / If¢ dsfaal o $o GCI A SHET &1 $d AT & UG DI X
¥ ¥u H TR fopaT wire ot 599 9 g adf § X siftremaw ur?

e 2001-02

e 2003-04

e 2002-03

e 2004-05
Correct Answer :-2003-04
9)

(34)



Question Stimulus :-
Binary fission is NOT foundin___ / % fogs= - T'Iﬁ PIIRSIGLH %
® Amoeba/ 3T
o Paramecium/amm
e Earthworm / %ﬁ[aﬂ
® Planaria /ﬁﬁ'ﬁﬂ'ﬂ

Correct Answer :-Earthworm / $9gafl

10)
Question Stimulus :-

The surface area of a sphere of radius 7 cmis 7 @Tﬁ Er:2 Udh MaP Bl Ug am @Tﬂ
T

® 816 cm?
® 840 cm?
® 616 cm?
® 3886 cm?

Correct Answer :-616 cm?

11)

Question Stimulus :-

If an object is placed symmetrically between two plane mirrors inclined at an angle of 70 , then the total

numberofimagesformedis/ﬂﬁﬁ'&;ﬂ70°W@ﬁmaﬁﬂﬁ%mmw®?@ﬁﬁﬁ%’,
a9 fAfifa ufefsel & pa gen @

® Six /9o
* Five / U™
® Four /TR

° Two/?ff

Correct Answer :-Four /dIR

(35)



12)
Question Stimulus :-

Distances of stars from the earth are conveniently expressed in the unit/T{%ﬂ T dRI Bt Qﬂ &) AT 9§
FE A A fPageE d e & Iod §2

® kilometre /ﬁWﬁTﬂE?

® metre /IﬂET

® light year / UbIRA CL

® angstrom unit/ m Wl'sc
Correct Answer :-light year / UoT=I 99
13)

Question Stimulus :-

With respect to electro refining of Copper, the object that is used as anode (positively
charged electrode) is / @4 & fagada ufsmur & Hed &, 98 axg <t TS (U4 ofaP sadwIS) & =0 &
UG gidl §

® Impure Copper / 3K dIH

® Pure Copper / Y& dTH

® Electrolyte /ﬁgu'cr SUYRT

®* Anode mud /ﬁ@' HS
Correct Answer :-Impure Copper / 3[R[& dI
14)
Question Stimulus :-

The cost price of two watches taken together is Rs. 840. If by selling one at a profit of
16% and the other at a loss of 12%, there is no loss or gain in the whqle transaction, then
the cost price of the two watches are respectively, / 914 # & 7S &I gf$dl $1 @G F19d 840 F
21 e TH B 16% ATY 3R gERI B 12% BT TR W 994 W, WYOf A9-¢9 § I g1+ a1 A1 1 gia,
at gl uf$al $1 arTa H1ud s HHE

® Rs.450; Rs. 350

® Rs.360; Rs. 480

® Rs.650; Rs. 450

(36)



® Rs. 360 ; Rs. 450
Correct Answer :-Rs. 360; Rs. 480
15)

Question Stimulus :-

Take a number x, and multiply it with 6. Take the cube of the rgsulting_ nu.mber. What is_the
ratio of this number to the cube of the original nhumber? / Tdh HS3IT x ﬁ, uq IW6d Tom oy
TRUmT T=AT BT 99 T | 5 WA BT Yo T=AT & T4 F 1Y FT U 82

e 216:1

® 36:6

® 216:6

* 6:1
Correct Answer :-216:1
16)

Question Stimulus :-

Please use the following table to answer the question / U¥H *» W aef *» m Casil g IRl &1 yahT Y

Slno. /. ltemfﬂl—?fo Cust;’ﬂf& Profit / eTe]
1 Pen/ whold Rs. 50 /& 50 Rs. 15 /& 15
z Pencil / 9Tl Rs.7 /& 7 Rs, 2 J& 2
) Note Books / ?@ TECh Rs. 22/% 22 Rs. 3/% 3

4 Erasers / §{91 Rs.15/% 15 Rs.5/% 5

&) Geometry box / SATTHOTT Rs. 37 /& 37 Rs. 13/% 13

G2z
6 Paper / Thidldd Rs.121/% 121 | Rs.24/% 24

A trader sells 1 Paper, 2 pens and 1 Pencil. What is his profit in Rupee? / T® T A 1
P, 2 Hod 3R 1 IRa 1 991 1 Tl & ITST ATH T THI?

® Rs56/ % 56

® Rs62 /362

(37)



® Rs29/% 29

® Rs49/349
Correct Answer :-Rs56 /3 56
17)

Question Stimulus :-

A certain sum of money lent out at S.l amounts to Rs. 690 in 3 years and Rs. 750 in 5 years. The sum lent is: / Hﬁ'sc
fHIf3a & ATYRYT TS ¥ 39 W 690 ¥ I ST § 3R 5 99 | 750 = 91 ordT 51 fgar mar oM §

® Rs.400/% 400
® Rs.450 /3 450
® Rs.600/3% 600
® Rs.650/3% 650

Correct Answer :-Rs.600/3% 600

18)

Question Stimulus :-

One of the two complimentary angles is seven — eighth as large as the other. How many degrees are there in each angle? /

& AT S0 § | T, gER | AIA-31641 96T ¢ | TS Hivr A fhaq &3 52
e 520 38°
® 72°18°
® 48° 42°
* 36°54°
Correct Answer :-438° 42°
19)

Question Stimulus :-

The chemical reactions produced due to the passage of electricity through a solution depends on: / ICGEEE:]

fagaa uRT varea g9 9 ST It sifufear fea w ik ot &
® the nature of the current source/ﬁ'g‘,'CI?l' URT & i D Ypid W

® the material of the vessel in which the solution is taken /aﬁq ® T-IET?I' R forad faea= forar man %
(38)



® the time of passage of current / ﬁgu?r URT W%?f ﬁﬁ & HT R
® the nature of the solution /ﬁ?ﬂq Edl t@ﬁr L'C3
Correct Answer :-the nature of the solution /ﬁlﬁ'ﬂ‘f Cd| uqﬂ%r L'ry
20)

Question Stimulus :-

Why do the fields require water at regular intervals? /ﬁlﬁl’d AR R ?33 o oA $I AMATIHdT = ﬁ?‘ﬁ %?
® Water is essential for the plants to grow. / STl urel & q@ & Pc’l'Q' SITaRYh % |
® Water is required for germination of seeds. /ST¢l deil & &W & ﬁt{ STAY D %I

® The supply of water to crops at different intervals is called irrigation and is different from crops to crops, soil to

soil and season to season. / Taf{T SARTA W wHdl &) oA Pt mmm%aﬁvﬁﬁﬁm
wod, gersft ok MuH & forw Srent-arent gidt 1

® Water helps the plants to grow in size. / STcl utel & 3P A q@ B B ﬁl’[{ Herddl hdl %l

Correct Answer :-The supply of water to crops at different intervals is called irrigation and is different from

crops to crops, soil to soil and season to season. /ﬁﬁ-ﬁ 3ARTA TR Bl DI Fd DI G'I'I'Cjﬁf ﬁ:ﬁﬂé Wl?ﬁ %
3R A fafts waat, gersil ok wiw & foe sram-srent gidt 31

21)
Question Stimulus :-
cos80° cos80°

sitn 10 sin10°
Evaluate + cos 59° cosec 31° /

+ cos 59° cosec 31° &1 1 A@iferg

Correct Answer :-2

22)
Question Stimulus :-

The electrolyte used to coat a copper vessel with silver is / fIgaa 3rqaed Sit did & TS BI gt A AT B
¥ wged giaT §

(39)



® Copper Sulphate solution /Wf‘R’ Tebe faea=

® Silver Nitrate solution /ﬁlﬁ? T-I'IEQE' faea=

® Copper Nitrate solution /ﬁCR' T-I'Iga? IEEEK]

¢ Ammonium Sulphate solution / M aH gebe faaa—
Correct Answer :-Silver Nitrate solution /ﬁlﬁ? T-I'IEQE' IEGUE]
23)

Question Stimulus :-

Which method of irrigation helps in conservation of water? /ﬁi?ﬂé: 3 i A faftr o & &0 i | Herddl
HIl 82

® Bucket irrigation /Sﬁ?ﬁﬂ ﬁ:ﬁ'l_st

® (Canal irrigation / FTgX ﬁ’lﬂl‘!—f

® Drip irrigation /Ejg-q'g ﬁ:ﬁﬂg

® Flood irrigation / dT@ ﬁ:ﬁﬂg
Correct Answer :-Drip irrigation / §G-8¢ ﬁﬁﬂg
24)

Question Stimulus :-

Find the sum of all 2 digit numbers divisible by 3 and less than 20 / It a 3P P @AM BT \_rﬁg ﬁ_CFIﬁ'Q' 3
faursa § ik 20 A BIETE

* 57

* 69

® 60

* 63
Correct Answer :-63
25)

Question Stimulus :-

The organ in the human body in which the cells are continuously replaced is ./ |Fd

TR F 98 o7 ol SIRreTE fAvdy ufawifia 8 & )

(40)




® Brain / HiET®

®* Kidneys / 99&

® Heart / §ad

e Skin / <dIl
Correct Answer :-Skin / ©dl
26)

Question Stimulus :-

Please use the following table to answer the question / U4 *» I aﬁ & 1%12 Cael] g IRl &1 g B

Slno. /. Item / T Cost/Hed Profit / =ITsT
1 Pen/ Theld Rs. 50 /& 50 Rs. 15/% 15
2 Pencil / 9T Rs. 7 /& 7 Rs. 2 Jj& 2
3 Note Books / of@« T Re. 22/% 22 Re.3/% 3

4 Erasers / S491Y Rs. i5/% 15 Rs. 5/ 5

3 Geometry box / GATIHOID Rs. 37/% 37 Rs. 13/& 13

-
6 Paper / &TeTat Rs.121/F 121 |Rs.24/%F 24

A trader sells 5 notebooks. What is his profit? / T STURI 7 5 OG- Y&IP 9l 8| ITDT ATH FIT SHM?
e Rs21/% 21
e Rs18/% 18
® Rs15/3 15
® Rs32/3% 32
Correct Answer :-Rs15 /3% 15

27)
Question Stimulus :-

In the given figure / is parallel to m. Find the value of x/ & TI% GI'ITﬁf H 1 9HiaR % m &1 x BT HH ﬁmi%rq

(41)



* 60°

e 75°

e 35°

® 45°
Correct Answer :-45°
28)

Question Stimulus :-

Which of the following statements is CORRECT? /ﬁ-'I'H A A B9 AT YT ?Iff %?
® There are nine planets in the Solar system /'\‘ﬁ'\r gf¥arR A C1i s ?I
® The brightest object in the solar system is moon /?Sﬁ? UfaR &1 o IHG AT fUvs a1 %I
® The tail of a comet is always directed away from the Sun / ?{H% | W ﬁ!f ﬁ Eﬁ?ﬂ [ ﬁg Q%?ﬁ %I

® Asteroids are mostly found between the orbits of Jupiter and Saturn / &8 RIRIGES Q?Wﬁf 3R
I &1 P&T F o | 9T Sid 2

Correct Answer :-The tail of a comet is always directed away from the Sun / Y& g Bt U8 4 |

FHRN ¥ fow Wl 7

29)
Question Stimulus :-

To detect the weak flow of current ,we use a tester which is / ﬁ?ﬁ YRT & HHSIR Udlg CAREG)
P & T &9 TP W &1 IuET B4 §, S ®

® Bulb /dcd

® Tube light / TJd ATRC

(42)



e C.F.L/ Wl.um.ua
e LED / UdasSl

Correct Answer :-LED / Tdss!

30)
Question Stimulus :-

Find the radius of the sphere, if the volume of the sphere is two times its surface area. /TﬁFﬁ? CAP | m&’,

gfe e ST AMad- 3P YF & BT SN[ 21
e 2 units / 2 SHIS
* 6 units / 6 3PT
e 4 units / 4 SHTS
* 8 units / 8 §TTg

Correct Answer :-6 units / 6 S®TS

(43)



